No Excel Answer Workbook

Input Cost Min Answers
1) Change r to 30, then take a picture of the graph and paste it in your Word document.
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2) Use the TRS = w/r logic to explain what the firm is going to do.

At the L, K position that solved the problem when r=3 (L*=183.3 and K*=32.6), the TRS is – 0.667. But the input price ratio, w/r, is – 0.0667. That means that the slope of the isocost line is flatter and actually intersects the isoquant at L*=183.3 and K*=32.6. The firm can reach a lower isocost by moving down the isoquant (to the southeast).

3) With r=30, run Solver to find the new optimal solution.

Take a picture of your optimal solution and paste it in your Word document.
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L

297.6427032
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Exogenous Variables

w

2

wage (price of L)

r

30

rental (price of K)

q

100

quantity to be produced

A

1

technology parameter

c

0.75

exponent for L

d

0.2

exponent for K

Constraint

2.49607E-07

-w/r

TRS at L,K
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4) Return r to 3. Set d =0. The graph blows up. Ignore the graph and run Solver.

Solver gives a nasty message, but also provides an answer:

L=464.158, K=0.

Is this right? Explain.

Yes, it is right. With d = 0, K is completely unproductive. That means it is not worth buying any of it. The isoquant is a vertical line and you get a corner solution:






To produce 100 units with just Labor, compute (100)^(4/3) (since q = L^0.75) which is 464.1589. That’s how much Labor is needed.

Of course, this answer is based on interpreting 0^0 as 1. I googled “zero to the zero power” and found some interesting results. Try it and see what you get.
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